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_ _ _ Muo
SN EB -GS - MBAY - BES arey e HRE2
ST S OHSII ALY 1,991,840 5,672,260 3,680,420
3 1,688,000
= 303,840
403 X+ X GRS KH 0] & 1,991,840 5,672,260 3,680,420
3 1,688,000
= 303,840
01 XEXICHH K22 1,991,840 5,672,260 3,680,420
(S X0 BFE DI ALY 1,991,840
3 1,688,000
= 303,840
CEDRETHHN 40,000 50,000 210,000
307 212+0I & 40,000 50,000 210,000
R EEES 40,000 50,000 10,000
(ESDRS SN 40,000
HENEE Y RV 40,000 20,000 20,000
307 21201 & 40,000 20,000 20,000
VIR RS 40,000 20,000 20,000
REEEEES R P 40,000
ASHLXAEE 24,000 63,500 39,500
201 YEr2g Y| 9,000 8,500 500
01 AtR 22|t 9,000 8,500 500
C2ersgt| 7,000
OSHEASHLABTIZ RO 7,000
mEEH 2,000
OEHEASHLZZDA 2,000
202 018 10,000 10,000 0
01 2UH0i b 0,000 10,000 0
Os0EASHEET 0] 10,000
203 YR ETY| 5,000 5,000 0
03 AI&4=ZI 2= XYl 5,000 5,000 0
Os0oASEHER 5,000
SHEASKHALEZRY 1,440,000 1,080,000 360,000
403 X+ X EHRI S XH2 0] & 1,440,000 1,080,000 360,000
0f MHXISHH =2 E 1,440,000 1,080,000 360,000
Os0HEASHAL2SA
300,000, 0002 x207H 2 x24/100 1,440,000
SHESH & 78,000 78,000 0
= 60,000
= 18,000
308 X+XI €I S 01 & 78,000 78,000 0
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= 60,000
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01 IXIEMBAEEZ 78,000 78,000 0
OsHE=HMX A 78,000
= 60,000
= 18,000

SHEZ2SHIIANZLESXA 175,000 175,000 0
= 175,000

308 KX SIS0l A 175,000 175,000 0
= 175,000

01 AXIEMBAEXZ 175,000 175,000 0
OsHE3SHIAMELSAA 175,000
= 175,000

SNMSHEEAXA 140,000 0 140,000
& 125,000
= 15,000

403 XtXISHMS K20 140,000 0 140,000
= 125,000
& 15,000

01 AXSHHMANE2EE X 140,000 0 140,000
OsAtZ2XE A X3 A 140,000
= 125,000
& 15,000

S Al 22 671,945 671,445 500
J| 653,445
= 18,500

SXo|S22 XS 653,445 653,445 0
J| 653,445

308 AAXIHAMSOIA 653,445 653,445 0
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O et=SH| 6,500
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==l 2,000
Osk 2| gRFEZ 4 2,000

202 (4 Hi 10,000 10,000
01 2| 10,000 10,000

OsAl2e 10,000
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OszzeRUs+ S| 5,000
OSZUMZINRRALSHSUHES 8,000
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02 =524 2,000 2,000 0
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OllcHs+Mged2deas 5,000
202 04l 17,000 17,000 0
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